Total No. of Printed Pages * 16 Roll No. GROUP —-A

Q — QdQ
SET-B Answer all questions serially.
A8 J9 Qe @2 |
720 R/E 1. From the given four alternatives in each question,
(Regular/Ex-Regular) cﬁoosg and w_rite senally the correct ans?/ver along
with its serial number. All questions are
LOGIC compulsory. 1x15=15
ARTS QEIR S8 Q6 QUINIRA FeF 9T TIQ AdR
(For studénts registered in 2021 & 2022) e eau geggﬁg gﬁq el aFe gaIzaca
_ oemcl | A9 g€ AR :
2024 (a) How is the figure of a syllogism determined ?
CAMYIQ IAQ°QIR @A 7o @9 ?
LOGIC

(i) By the position of the major term in the
. remises
ARTS P

- CLe QIMNAIPEER Jid Jd9a 2R QLI

(i) By the position of the minor term in the
premises

Full Marks : 100

Time : 3 hours
6&?@_ LI ER 9 doQ 2edie Q1

The figures in the right-hand margin indicate marks. (i) By the position of the middle term in both
. . - the premises
ofle aIgea go0 Za g9 gy 4eId |
WOE CLQAIMEQ FIUIAANR ZLIR QI
Answer the questions of all the Groups as directed. (iv) None of these
o8 PeRepdlcn A9 SaFR gggoen aee &8 | QUCRUY QAT Q6L
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(b)

(c)

ZP —42B/12 (3)

Name the figure of the mood ‘FELAPTON’ :

‘caReqlf 69@ AWINa 9@ Y qd
216E ?

(i) 1stFigure
a1 Q°diex
(i) 2nd Figure
QOIS QgL
(iii) 3rd Figure
Qo118 A°QIR
(iv) 4th Figure
oQd AR
In syllogism the predicate of the conclusion
is said to be :
QO g8 IRNBQ F6 6298 @€ '?
(i) Majorterm
auae
(i) Minorterm
afde
(iii) Middle term
6290
(iv) None of these
QUEAIB 6RUG Q6L

(d) Which experimental method is known as a

statistical method ?
(Turn over)

https://www.odishaboard.com

609 aQIgd A8F QA WIR dVIQET
ataéie 7
(i) Method of Agreement

AQD ARG

(ii) Method of Difference
MR AR

(iii) Method of Residues
dQEAY AV

(iv) Method of concomitant variation
229101 Iaeas 989

(e) Which of the following is a weékened mood ?

SARYS 1IQ 60AT IR QIR NAQT ?
(i) Darii
QQUR
(i) Datissi
2I[Als]
(iii) Cesare
64QIea
(iv) Celaront
- 6ARIEAL

() * Which of the following is not a form of

ZP - 42B/12 (4)

scientific explanation ?

PANYS FIg LT IWFS W IR
69 Q6% ?

() Deductive model
USQULINR goga

Contd.
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(9)

(h)

ZP — 42B/12 (5)

(i) Probabilistic explanation

QAPPSR QIR
(ili) Functional explanation

QIYIae Iy
(iv) Formals explanation
2D ISR

Point out the fallacy in the following argument
“Night is the cause of the day.”

36910 YBQ 06V @41
‘AT dega I8 1

(i) Tlicit generalisation
26T AIFIPNLRQE)

(ii) Ignoratio Elenchi

22 gt 619
(ili) Fallacy of taking co-effects as cause

J9aedIg Qa8 F6a0R! FAR
(iv) None ofthese
QAEUD 6TNETT Q62

What is the conclusion of a simple
constructive dilemma ?

99 o0 Qe J9ae g8a dAale @4
266 ? -
(i) Alternative proposition

CARER ORI

(Turn over)
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(i)

(i) Hypothetical proposition
JIQEe o0RIRY

(iii) Disjunctive proposition
S6QN0R P

(iv) Categorical proposition
FacAD XA

Which experimental method is essentially a
method of deduction ?

6QQ UQIFE IR0 6513008 IR 2FEAL 9§D
260 ?

(i) Method of Residues
3 (SIS RS LN
(i) Method of agreement
UQA A%
(iii) Method of difference
TR ARG
(iv) Method of concomitant variation
AR ARV UKD

(» To which mood Darapti can be reduced
directly ?
QNG 699 NG QA9 gousa &

169
con 1 ‘53._91 13) 69 QaIRRe
() BARBARA
SIS
ZP - 42B/12 (6) Contd
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(k)

0

ZP —42B/12 (7)

(i) DARII
LR
(ili) CELARENT
N NS
(v) FERIO
e QB
Which term is distributed in an ‘I’ proposition ?
‘Q 0T VAUER CRNURD NG ?
(i) Subject
QEQEl
(i) Predicate
Seua
(iii) Both Subject and Predicate
QARG QEREY G T
(iv) Neither the Subject nor the Predicate
QEREY Q6L @ Feu] Q6L
Who had said, “Truth is God” ? .
G4q @226, “‘aoy @ aga’’ ?
(i) Gandhi
ol
(ii) Gautam Buddha
colloe @&

(Turmn over)
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(iii) Mahabir Jain
ARINQ 68

(iv) None of them
ageale 6NaT Q6L

(m) Whatis the obverse of an ‘O’ propositon ?

(n

ZP —-42B/12 (8)

‘6’ 0FQIRY §9F0 626m 699 PRARY
94 ?
(i) ‘I proposition

‘@ ORARY
(i) ‘A proposition

AU’ CLANY
(i) ‘E’ proposition

‘@’ Q@R

(iv) Cannotbe obverted
NIBQ 62IAAR 1D

How many forms of dilemma are
there ?

66017 Gaae YB6a ANNR A8 7
(i) Three

PexIe
(i) Four

UEQUT

.- Contd.
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(iif) Five

agd
(iv) Six
2%
(o) Name the function of the following expression‘ :
.p=q ' _
FAYC 2B6a Y ANTRRTA QIF1 e
@=6
() Equivalent function
AAGRY TRR
(i) Implicative function
2@ T
~ (iii) Contradictory function
QYR TRR
(iv) Disjunctive function
Q6D TRR
2. Fillinthe blanks : 1x15=15

AR GRS KR :

(a) Accordingto Aristotlé's Dictum,
figure alone is the perfect figure. -

(b) In ___ figure ‘O’ can not be a
conclusion. .
qegieeq ‘6’ we deie

cRIQaIae QR |
ZP - 42B/12° (9) (Turn over)
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(©

(d)

(f)

(g_)

Ramachandra is the son of Dasarath.
~. Dasarath is the father of Ramachandra.

This argument involves the fallacy
of

AUNPY ATQATR L |

C. @A QUFIRLYEQ @Idl |

2 93§ OF 6QIY AUCET |
Vyapti is the relation of invariable
concomitance between Sadhya and

NG Qlal @8 CrRIEA P04 Aeedy
AAS TUET |

In figure at least one premise
must be negative.

. 2°QIR6Q LGS A6 69115
62QRINY SR 629 |

The converse of an ‘E’ proposition is ‘E’
proposition and the converse of an ‘I’
proposition is an ‘I’ proposition. This is called
conversion.

¢’ OFANQ ARG ‘4’ B ‘Q eFIMNQ
AR ‘Q’ AT | I8 AANRERY

ARV LRI |

Anvaya means agreement in
ALAGQY UAQYA QLI |

ZP —42B/12 (10) Contd.
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(h)

(i)

In inductive inference, the conclusion can be
general than the premises.

UIEAIRIQAINEQR RIS 62QI]Y 019,
629 |

The fallacy of
the following argument.

3 doa JIsa
@9 |

The old woman died soon after the arrival of
the newly wedded bride, so the new bride is

the cause of the death of the old woman in
the house. ' :

is committed in

_ Q0R6919 Q19

P QP! MY UIGFIR TR WEQ YR TR

QY ATR | 604 @9 IATGI YT YWIEA
QIR QIR 2UEE' |

) Dilemma is a form of
syllogism.
QAT Y38 1@ U 943 |
(k) If one of the premises is particular in a
" syllogism, then the conclusion must be
QS 6915 62Q @R GU Y6 T6dF 629,
o6 dRI3 629 |
() For direct reduction of ‘BAROCO’ it is
renamed as
- ZP —-42B/12 (11) (Turn over)
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QIYIS QLAIINIQEER ‘QERUER’ @YIL YAQ
AGQEQ Rl 266 |

(m) According to Negel kinds of
scientific explanations are there.

CRETN® (06 6TRISR QU
S

(n) p.qisanexample of function.
@ . ¢ TR @ QUS|

(o) In obversion the conclusion is called

earea ANIe] ' Qelaid |
GROUP -B
& — Saud

(Short-answer Type Questions)
(arSg-aaa q°e d9)

Answer any eleven guestions of the following
within two orthree sentences each : 2x11 =22
B¢Ade caealed weIad gga Qea geeie e
QI B6RIT QURER €AY :
(a) What is fallacy of undistributed middle ?
T AMIG FRIGQ 61T Q'8 ?
(b) State special rules of second figure.

3018 °ANea Joa Fac end |
(c) What are the valid moods of 3rd Figure ?

Qo140 A°YIRQ 6T QUIG QUGYLR '8 ?

ZP —42B/12 (12) Contd.
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(d)
(e)
()
(9)
(h)
()
0
(k)

0

(n)

What is Niskama Karma ?

FAN QA @9 7

What is fallacy of petitio principii ?
goaiay Q191Q 618 @4 ?

What is Samavyapti ?

aaug @@ ?

What is perception ?

goua @’4 7

What is Dilemma ?

QR Y8 @8 7 o

What is Symbolic Logic ?
goeIae oadaIg @78 7

What is material obversion ?
QgEo NIQER F'E 7

What is fallacy of composition ?
arEead 6918 @6 ?

What are the names of the five members of
the Nyaya inference 7 =
ICLAINR TIET AR FIA @4 ?
What is logical constant ?
oadIgIa gaus @74 ?

What is conversion by limitation ?
QITO QAR @8 7

ZP — 42B/12 (13) (Turn over)
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4. Write short notes on any six of the following
questions within five or six sentences each :
3x6=18
P68 I 696R1d 2U¢ I°AY TA g6RNQ
g QU UG QAUMER 6RW :
(a) Use of symbols
JoIRa LI
(b) Svarthanumana and Pararthanumana
quEadigaie 6 aquelgee
(c) Desctuctive Dilemma
PENIAR QTR YS
(d) Argumentum ad populum.
CRIEREALR OF 6QIY
(e) Advantages of Joint method
AYS 90 2@
(f) Aristotle’s Dietum De Omni et Nullo
UReTRT AL18018 99
(9) Mediate and Immediate Inference
MILQ B ANIDO ARANR
(h) Construct truth table for implicative function .
AR TR dYAIQE 0L @ |
(i) Mood of Syllogism
FaQgSa g Q4

ZP —-42B/12 (14) Contd.
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- ZP —-42B/12 (15)

GROUP -C
g - I
(Long-answer Type Questions)
(eid-eaa ¢qee 949)

Answer any four questions of the following :
73%4 = 30

Q6418 999Iew FRIQ 6a6R14T QI6QIT J9gQ @9

@Y

Explain Gandhi’'s concept of Non-violence.

ISR 2L°Ql FFA6Q ¢! AR |

What is Scientific Explanation ? Explain its nature
and characteristics. https://www.odishaboard.com

CIRIFR I RIDIG QI ? IR YA G AVE
4l 2a |

What is conversion ? Explain its rules by
converting A, E, I, O propositions.

ACIRER *'€1.? 92IQ FAFGEQ 2l, 1, Q9" 8 09
QIRIER g6l JIR QIR M4 |

Prove that from two particular premises -no
conclusion can be drawn.

QR% 649 0% QARG 64T IR AANIG AN
aide QIg |

(Turn o(rer)
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10.

1.

12.

ZP —42B/12 (16)

Construct truth tables for the following expression :
QUL AR ALUQIQET CIOR |Q :
() ~(p-q)
~(a. a)
(i) po(pvaq)
as(ava)

Reduce ‘CAMESTRES’ both directly- and
indirectly. . '

‘A6068° @ NG AINIG G QIR YAISVIRAE]
X |

What is mixed syllogism ? Explain mixed
Hypothetical categorical syllogism.

dg Saa1 g8 QI2Ig QoIaN ? dg gI9Fe asas
QAN 8Q I NS |

Explain Mill's method ongreement.

faeq 299 a8t ¢l o |

® s
o

https://www.odishaboard.com
Whatsapp @ 9300930012
Send your old paper & get 10/-
IR W I9E A 3R 10 T4 9=,

Paytm or Google Pay #

- Logic (ARTS)
(Regular/Ex-Regular)

https://www.odishaboard.com



